N = 757

757 circles in a square

N = 758

758 circles in a square

radius = 0.019185844726  density = 0.875402137809

ratio = 52.121760302150  contacts = 1936

N = 760

760 circles in a square

0.019180304690  density = 0.876052396719
52.136815143872  contacts = 551

8o
o

ratio 46731582378  contacts = 1442

N = 763

763 circles in a square
Yl

radius = 0.019169468301  density = 0.880834963236
ratio = 52.166287781721 contacts = 1483

N = 766

766 circles in a square

N =761

761 circles in a square

N = 759

759 circles in a square

19176657283 density = 0.878029845750 0019174270000  density = 0.878966263975

52.153224087157  contacts = 1371

N = 764

764 circles in a square

0.019171209734  density = 0.879840361658
52.161549213309  contacts = 1454

0.019179175550  density = 0.877104860496 [ Egur
52.139884580983  contacts = 979

N = 762

762 circles in a square

N = 765

765 circles in a square

0.019168316788  density = 0.881883440315 Desmn
52.169421607285  contacts = 1416

N = 767

767 circles in a square

0.019167470091  density =
52.171726120170  contacts =

0. 882959729211 DEsmr
1813

N = 768

768 circles in a square
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radius = 0019099119667 density = 0.877819738327 & 5von radius = 0.019076724543  density = 0876005621553 ) Eswr radius = 0.019044841423  density = 0.875116383275  Eower
ratio = 52.358434180735 contacts = 1988 e ratio = 52 419900374086 contacts = 1921 ratio = 52 507656943427 contacts = 2077



